?it'v\‘t“"ﬁ "'QQ}'\/"L/QA/\Q.T@(/\Q/{ O(/V\/’D?Q?W\O\/\LTOW

I

\ //:/—_\) 2 s % g@%}i&

-

X -
V\ — (Wv’/uﬂf‘%?w M'(g@d Spa e
M W Sowme seunQl NV\ (S C[@g&lt? /"{)
i 0 CF .
Ex &= Z a9 cons claf thg/&wﬁ\qi
I S

= = Qs T )

—



Q\vm \&MW/@W\/ XL?
A gv’(ﬂ—ﬂ

W 1R
ﬁy A, events

é/‘j CTOSS (NS




B/ MI/U(\/\CQOQ“ @ZT\/.&:Q_\ 1\ g @

X@ S-LQ%*OVWJX F\F@%% % //2
| PAnR)-P@#) F(®))

Als) = 4
he G- 59)
SLTCQ(/\CS w—lxﬁwi‘j f D(CQ] — © Qs > —D o=
U;o”‘lwt XD v o2V MO o — 2 O A
— (76 ?(17 _ S S CB/ZZC’ a/@
doo §IIH > —om s

/(/D\Z-CL /(/w gﬂZC@\/lg v KT ONGf Q@f

Ovm@v(\ng\Q ) CoCaCel












g(?’f: qlalp (%’7 T)Dz,\ iC g %(%“‘“}V O/(%QJV

(4 - doul:wwﬂ R _
\K’< \X(OA < Ayga @) XA,FZOC EZ
Avel (%, B)

(@V lg’ /At‘z ol R \MC&‘Qc;cg?mj
Ao T = © —=> TG

X“V /k/(@vj;v\> ) r)? lv\oQ,Qf 4/(032‘/\)
DQJV”—‘—(X/‘ZX‘LW%)




o%Q Pl 2.< A%%j = S £9,69 09> dxdy

O DN |
W(%(é i ;Cfﬂ —~ W{%DQA%E\C S g /\QAOQ\)QB(\&)ZA}O
- V oA A~

A
]Elw; <><))<\ (KWL‘W‘L 1S ‘Kﬁ @W@uﬁ(
H><)<C/AD%\ @Q %l@p‘ VYIRS
1, .\/<><\/7<d\ // // / m
O ¢ / // -
\?(X@—ZJS\W% > ) "

W = 7N T



/\///@W\@uzx cz/&« &/\@p@j J@M@\
AV

V/ ) I } LA
7 D) o
&) Cer

— QOMW(%/\.Q/\/\J’C\SJ C@$(/LH§

| o

/\‘\(\W&‘z%m@\/v S odiu 1 1
Z/O jV 3(&,4\69
QQ C “s oy \/ () =« C ) 9 . <




C@/\AS— ﬁ@r \%Qm@TQ/ QJQ\O} \Jof ™~ \z’t

T Meduleg— Muadeesd 12715720
Nag(@@;@ I NEIC) é_}( (@
/W T’*fo QA
Ct% 2(\&& C cun @Q whﬂlﬂ.t/\ I lot e

GQ)L\A%T'/’\\Qg 92 C,rr“g"\(“o/@ fﬁ\!ﬁ/l‘(g
cond. éQ\QQ @WAC/?W@ (ﬁﬁ?/

CEQ)CLg ol















Moqosow — Sodlin (weain \dacr)

Q Tllee w & Qe\/@ﬁ <wL //Mrec@e
\ma/\f\\S avidteed f@mig LA M%CQ) o \Hﬂ

&UQ/Q é@, 3% x\;éEg'L vg —
(vg_ o\ Cee L Pa\N\L% -y Q1> gﬁé \Q\Q &
(¢ s )

T+ cot 6797\1\71% \Vi<e > R
@\/QL /H/@\ﬁ @@é A we/ /Mmslcc//%wl >

O 1= @I“Q%@g S\WM\C;;Q;/W@W‘
R0 ¢ 9=0 ad @@W csvy. pe Y

o O@



-y

J ng%‘( i 7
Q YO N /ﬁ?@g\ ? @ LA

At

=
oS o



B— M- y
C&lcaﬁ/cex‘jeg ®WM% x‘f\z \\JV\ o 7

IER T A G R “\{W\ZC‘@(“BZC’Z>©
dey (o ¥a) >0 @ Tl

—%/ucalw&ﬁ/‘@“5 QQQ o roles 2

»
%ﬁﬂwfwu L pecti cules VA2 b

>( /(/ (%(@ @ Yp\v:_ Mg (ECVJ)@*%\

CE/S(( EO \—7 ><\Q_ \{(L Rid{@ - L
4 (e o) = ey (R 22 —

A P

)

\_______./)






